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For each Learning Target, rate yourself. For each problem. show your work.
I can do all things linear. 4 5} 2 /i

Graph the function.
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Find the equation described.

3) Find the equation of the line passing through the

points (6,8) and (-12, 4).
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4) Find the equation of the line passing through the
point (-3, 5) and parallel to =5x — 4y = 1235«

Y33

I can graph transfermations of parent functions.

Graph each function.
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I can graph other functions. 4 3 2 I
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I can determine domain and range of functions. 4 . 3 2 I

Find the domain and range of each function.
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I can solve equations. 4 3 2 /l

Solve each equation.
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( " 7 can find and simplify a composition of functions. 4 3 2 /
3x+2 +2 = :
W) fl) == = 30) () = ==; g(0) =22 and h(x) = % + 1
3x+?_
= 1>< ) ( ~F"__
: e i/\[k&
B . =)
Find g(f(x)) g —-%M"-‘) Find f(g h(x) ) EUEEY Tx B
. ‘ - ol
- B2l . Bl flg(hCd) e
ST ey TR S > |
= 6% 21
I can use polynomial or synthetic division. 4 3 2 /

31) Is x — 2 a factor of 9x* — 17x3 + Tx? — 20x + 4?2
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